Ukazka prikladu cislo 2.

Reste v O rovnici:

£—1=£+2

3 2

Regeni:
Z1=2+2 16
3 o

2x—6=3x+12
2x—3x=12+56
-x=18

x=-18
Zkouska:

3\

L(—18)=—§—1=—?

-
I

P(-18) - -§+2= 7
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K ={-1g)

F
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Ukazka prikladu cCislo 7.

Reste rovnici v Z:
(x+2)(x+8) =(x-10’
Reseni:

(x+2)(x+8) = (x-10)’
X +8x+2x+16= x —10x-10x+100

30x =84

34 14

X=—=x=—

30 5
Zkouska:
(14Y (14 10Y{14 40) 24 54 1296
IN—]l=—+—=—|| —F+—|=—-—=__"_
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Prﬁa=rﬂ_212=1296 5
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Ukazka prikladu Cislo 13.

Reste v R rovnici:

Sx—-4 16x+1 ~0
2 7
Regeni:
Jx—4 16x+1 _0 /14
2
35x-28=32x+2=0
3x =130
x=10
Zkouska:
L{10)=23-23=0
L=F
P(10) =

0
X ={10)
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